HENRY PARK PRIMARY SCHOOL
2008 SEMESTRAL EXAMINATION I
SCIENCE
PRIMARY 3

100

Duration of Paper: 1 11 45 min ![

Nama: { ) Farent's Signature

Class: Pr 3

PART 1 {60 marks)

For each question from 1 to 30, four options are given. One of them is the correct answer.
Make your choice (1,2, 3 or 4). Shade the correct oval (1,2,3 or 4} on the Oplical Answer

Sheet.

1. Sally placed two things, A and B, info two jars. She also placed the same
type and same amourt of food in each jar. She then made some
observations of A and B as shown below.

| A B
i Moves slowly Does not move
Feeds on the foad The food is unlouched
Grown bigger afler 5 days No change in size after 5 days

Which of the following could A and B be?

L A o __B
{13!t  Siwne o Brick
(2} Caterpillar Rock
(3) Beetle Butterfly
{4y Earthworm Dragonfly - |
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2. The table below shows the characteristics of Arimals A, BandC.

Characteristic A B C .
Has 6 legs v X X
Lays eqgs J V X
Has a beak and 2 wings X N X
LBreathes through gills X X R
vV — has the characteristic
X -- does not have the characleristic
Based on the table above, what could Animals A, B and C be?
A B C ]
{1) Spider Penguin Guppy
(2} Grasshopper Sparrow ___ Whale
3) Cockroach Ostrich __- Guppy
(4} Beetle Chicken - Whale g«

3. Xiaoming wants lo classify the animals shown below into 2 groups.

Which of the :‘offdwing are the most appropriate headin

Kingfisher

if there are 3 animals in each group?

gs for the 2 groups

Group 1 Group 2
{1} Birds Mammals
(2) Canfi Cannot fly
(3) Lay eggs Give birth to young
(4) Have beaks Have no beak
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2 Siudy the living things below.

Mushroom Coconut Palm Hibiscus
Whiat are their common characteristics?

A They produce flowers.

B: They respond to changes.

C- They make their own food.
D: They can imove on their owr.

(1) Aonly

(2) A and C only

(3) B and D only

{4) B, C and D only {

5. Study the diagram below.

- ! Makes if own

_ food
Responds o ‘:‘2)(.5 Reproduces from
changes spores

Which of the following is X likely to be?

{1) Yeasl

{2) Rose Plant

(3) Bird’s nest fern

{4) Brackel Fungus (
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James planted a seed. He walered it everyday and placed the plant in
the surilight.

James measured the height of the piant for 6 weeks and represented his
results in the form of a bar graph helow.

25 -

)
=]

[
L%

Height of plant
[
Q

(centimetres)

Time (Weeks)

Week 1 Week 2 Week 3 Week 4 Week 5 Week 6

5. Using only the information given in the graph, which of the following
characteristic(s) of living things does the graph show from weeks 1 to 42

A Living things die.

B: Living things grow.

C: Living things reproduce. -
D: Living things need waler o survive.

(1} B only

(2) D oniy

(3)Aand C only

(4)B, CandD only ( }
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Trie following 1able shows some information on Plants A and B.
A { v 1indicates that the plani has the characleristic.

ey W e
S - S SR i, VU SN~
i Bears iruit I | N
| Needs a support lo grow upright | I J
]
Plants '
Flowering ! ’ Non-ilowering

! ' I

1 | l

Weak Strong Weak .~ Strong
Stems Stems Stems Stems
p Q R S

Based on the information given in the table, which ietlers P, Q, Ror Sin
the chart above best represent plants A and B?
| Plant A ! Plant B
o [ R P
@ - D
() : S P (
(@ [ R Q B

Sitt made the following observations of an object.

~ His flexible.
« ltdoes not break easily.
= |t does ndt absorb water.

What material could the object be made of?
i1) Clay
{2 Metal

{3) Glass
(4) Rubber
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9. The table below shows how some materials are ciassified into two GrGups.

Materials

|
| ]

Group A Group B
Clay Metal
Piastic Glass
l Rubber

How are the materials classified?

(1) Strength
(2) Flexibility

" {3) Hardness -
(4) If they are waterproof

10.  Amy was asked to draw and label a three-stage life cycle of an animal.
She drew 3 different life cycles as shown below.

Egg Pupa
Aduit Larva - t=gg Aduit
- ‘\/
Life Cycle A Life Cycle B
Young
Egg Aduit
€ )
Life Cycle C

Which of the following life cycle(s) is/are correct?

(1)} B only

(2) C only

(3) A and C only
(YA, BandC
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11.  John kept 4 mealworms A, B, C and D, eadis at a different stage of
growth, in 4 containers. He placed 15 g of food next to each one of them
and recorded the amount of food left in the containers afier 2 days. He
recorded his resuits in the table below.

[ Mealworm Amount of food ieft
A ! 159
B i 11g
C 8g
D i 5¢

Which mealworm is most likely to be in pupa stage?
(1A
{(2)8

(3)C
{4)D

12, The diégram below shows the life cycle of a dragonfiy.
I Nymph~

Egg Aduit

T~

Which of the following animais does not go through the above fife cycle?

A. Moth
B: Buiterfly
C: Mosquito

(1) A only

(2) A and B only
(3) B and C only
{(4)A,Band C ...
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Study the diagram below and answer questions 13 to 15.

Adult Stage X

e

Stage Y
13.  Which of the following +mssede go through the life cycle above?
A: Chicken
B: Butterfly
C. Mosquito e
D: Cockroach
(1) A and B only ' -
{2) A and D only
{3)B and C only
(4) C and D only )
14, Which of the following correctly shows the names of stages X and Y?
[ X Y
(1) Nymph Larva
(2 Pupa Larva
(3) : Larva Pupa
(4) Larva Nymph -
15, Which of the following is true about ALL the animals that go through the
above life cycle?
Al The young lives under water.
B: The young does not resemble the aduit.
C: The young moults before becoming the aduit.
D: The young does not need food at one stage of its life cycle.
(1) A oniy )
(2) Aand D only
{3) B and C only
(4) B, C-and D only
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16. Jane carried cut an investigation on germination and her setups are shown below.

Setup A Setup B
N N 4
Seed L~~~ —~—1 Wel cotton Seed L ——————~__—~—1  Wel cotion
eeds ; T woo! with eeds g 1 wool with
D S fertilisers J_ €D . fertilisers

oo added \ added
9, ED

A A e J

Placed in 2 cupboard Placed near a window

From this experiment, Jane is trying to find out if

(1) fertilisers help plants germinate better

{2) a glass beaker helps plants germinate better
(3) fight is needed for gemmination to t1ake place
(4) water is needed for the germination to take place ( )

17.  Jane wishes to carry out an experiment to find out whether kidney bean
seeds or green bean seeds gemminate faster.

Which of the following variables must she keep the same for this
experiment? -

A: The type of seeds

B: The amount of water

C: time taken for seeds 10 gemirtate

D: The location where the seeds were placed

(1YA and C only

(2) B and D only

(3) A, B and D only

(4)B, Cand D only | )
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The foilowing shows the stages in the life cycie of al plant.
(g q

Study the diagrams and answer questions 37 7and 187

-

I

S R Q P

18.  Which of the following shows the growth of the bean in correct order?

(R, Q,P, S -

noo

19. At which stage of the life cycle above is sunifight needed for the plant to
make food? .
(1) Q oniy
(2YQand Sonly
(3) P, Qand S only
(4)P,Q,Rand S { )

20. The diagram below shows a magnel.

If the magnet is placed in a box of paper clips, which par of the magnet,

A, B, C or D, will attract the most number of paper clips?

(HA . - .

(2)B

(3)C

(4)D ( )
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21.

Ali placed a safety pin in 4 containers made of different materials. He
wanted to find out if the same magnet would be able to altract the safely

pin out of the containers when he moves the magnet {o touch the

containers.
piron t poper ]
conialner | l containess i
magnet i magrnet ’ i
e so!efy pin g — sately pin z
| e
Setup A Selup B
glass styrofoam
coniaines container
magnet magnet - )
[ - safety pin safely pln

Séiup C

P

Setup D

In which of the following set ups the magnet will not attract the safety pin?

(DA
(2)B
(3¢
(4)D
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Zavier was given a few metal objects. He classified them into 2 groups,

non-magnetic and magnetic.

Non-magn

Metai Objects

NMiagnetic

elic J

What can objects X, Y and Z in the following be?

- X Y ]
i Nickel coin Iron pin Aluminium pot
2} Gold ring Iron pin Nickel coin
3 Iron nail Silver necklace Aluminium pot
4 Silver neckiace Gold ring Nickel coin

23. Megan recorded a fist of items thal can be done with a magnet and she
showed it to her mother.

Megan's mothe

@@é ]

We can use magnelts to ..

A tell directions.

B: Hold a piece of paper on a siee}
cupboard.

C: separate all metals from non
-metals.

J

r said not all statements in the list are correct.

Which of the following statement(s) isfare correct?

(1) B only
(2} C only

(3)AandBonly

(4) B and C only
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24.  Which of the following methods will cause a magnet to lose its
magnetism? ‘

A: Placing it near an iron nail

B: Hammering it several times

C: Heating it over a strong lame

D: Placing # in the waler for 60 minutes

{1) A and B only
(2} B and C only
{(3) A, C and D only
{4} B, C and D oniy

25.  Which magnetised iron nail in the following sei-ups will atiract the most
number of paper clips?

(1) Batieries
+——— Wire
Wimn nait
- (2} Batteries
Wire
- fron nai _

{3) N

L Wiro

OESSie3——rron nail
%) Battery

—

S bon nail

——Wire -
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26.  Which one of the following magnets is wrongly named?

27

j Paper clips

(1) AandB only
(2) B and C only
(3) A. Cand D only
(4} B, C and D only
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)
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( )




28. Look at the diagram shown below.

Magnet

Glass
SN

fron nails
Which of the following statemenis about the diagram is true?
{1) A magnet can atiract glass.
{2} The glass can be made into a magnet.
(3) The magnetism of a magnet can pass through glass.
(4) The magnetism of a magnet cannot pass through glass.

29.  Wej Ming wanted to make a temporary magnet. He then arranged the set
up as shown in the diagram below.

YRR -

Iron rod
After 30 seconds, he decided to test his temporary magnet by using it to
attract some iron nails. To his disappointment, only 2 iron nails were
attracted.

What should Wei Ming do to ensure that his temporary magnet would
atiract more iron nails?

A: Use a new battery with a higher voliage.

B: Use a longer iron rod so that more electricity would be able to pass
through it. . -

C: Increase the time for the electricity to pass through the iron rod from 30
seconds to 5 minutes.

(1) A only

(2} A and B only
(3)Aand C only
(4) B and C only
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30.  Which of the feliowing objecis shown below make usc of magnets to
work?

o e
C ‘D T
f J
_ b — 5
Light Switch ] Refrigerator
L [ e — e

(1) Aand B only

{2) A and C only -

(3)Band D only -

(4) C and D only { }

End of Part 1
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HENRY PARK PRIMARY SCHOOL
2008 SEMESTRAL EXAMINATION i

SCIENCE
PRIMARY 3
4Q
v
Name: { }
Class: Pr3
PART 2 {40 marks)
Write your answers to questions 31 to 46 in the spaces given.
31. Stludy the classilication table below.
Things
r Thumbtack Jew's ears
Salted Fish Puff Balls
Plastic Cup Morning Glory
Woollen Sweater Batsam Plant
Group P_ Group Q Group R Group S
Thumbtack Satted Fish Jew's ears Morning Glory
Plastic Cup Woolien Sweater Puff Balls Balsam Plant

a) State a difference between the things in Group R and Group S.

{(1m)

b)  State a similarity between the things in Group P and Group Q.

(1m)

€) Write down suitable headings for Group P and Group Q.

Group P:

Group Q:

P3 Sc SA2 2008
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32. Esther was on a school fieldtrip when she saw two Iving things shown below.

S ﬂl‘
) %
%a—;’%%%g‘ (j.‘,ggs-
S A Y
NS
T SN
‘3\:}- ot é’ G5 E
-—;

Fern

Papaya Plant

Her leacher told her that both belong to the same group of living things. ~

a)  Which group of living thin

gs does the fern and the papaya plant belong {?m)
16?7 Explain your answer.

Her leacher added that even though they belong

lo the same group of lving
things, there are differences between them,

b) State ONE difference between the fern and the papaya plant. {im)
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33. Bala carried oui an experiment wiiih fwo boards
thickness as shown below.

T0dg /\ 100g weight
ﬁ/

, A and B, of similar size and

e

Board

Metal Stands———— -

| _—

He added 100g weights one by one on each board until it broke and recorded
the greatest number of weights the boards can hold.
Below are his resuits.

{  Board Greatest number of 100g weights the board can hoid
A 5
B 9 ]
a}  What was the aim of Bala’s experiment? {1m)
b}  Which board should he use to support an 800g object? (2m)

Explain your answer CLEARLY,
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34. Look at the 2 types of footwear below.

L

Rubber baoots Canvas shoes

Mr Lim is a farmer who works long hours in wet and muddy fields.

a)  Which footwear is more suilable for Mr Lim if he warts to keep his feet {1m]
dry?

b) Explain your answer in (a). {1m)
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35 On the Dynasty Planet, lhere lived thre
Diny with difierent iife cycles.

JBDM/' @ 8 Days

A JTS Days

e kinds of creatures. Bino, Dina.and

13 Da'ys
e -
- I
L./ 21 Days teo/ 2 Days
40 Days
Life Cycle ofDinoT -
‘_A Days
a)  Which life cycle, Dino, Dina or Diny, has the mos! number of stages? (1/2m)
b)  Which life cycle, Dino, Dina or Diny, is the longest? : (1/2m)

€)  Inwhich life cycle, Dino, Dina, or Din

y does lhe young look most like the  (1m)
adult?
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37.

8renda observed how the following animals developed into adults over a
period of time. She dlassified them into 2 groups, X and Y.

I—M- | GroupY T
_Butterty i_‘m

[ Moth

.. —_—

a) Give suitabie headings far Groups X and Y. (2m)

Group X:

Group Y:
-

b) Basedon yourranswer in {a), in which group (X or Y) will you classify the  (1m)
mosquito? =

The pictures below show the life cycles of 2 animals.
Wiite ‘T" for True or ‘F’ for False for the foliowing statements shown below.

{2m)
Grasshopper Housefly
(@) The housefly has wings at the adult and pupa stages of its life. - { )
(b) The grasshepper nymph can move from place to place while the pupa { )

cannot move from place to place.

{c) Thelife Cycle of a cockroach has similar number of stages as the life cycle { )
of the grasshopper.

{d} The young of the grasshopper resernbles s parent while the young of the { )
housefly dces not resemble its parent.
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- 38, The pictures below show different stages of the kife cycie of & beetle.

[ e e s e

‘ : !

‘A*"‘ Tl 1 H g,) : o i
! : i . ! :

! i i . il
e A ] B, oo _.b

a)  Abwhicti stage, {4, B. C or D). does mouiling occur?

b} Using the jetters, A. B, C and 0, draw the iife cycle of the beelle in the
boxes bslow.

a L]

¢}  Give areason why all iiving things have 3 life cycle.
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39. Beakers A and B were placed indoars, near the windows.

— . _ —
Dry
P .. 1 cotton
Ry waol
Seed
Becker A
a) In which beaker will the seeds germinate? (1m)
b)  Explain your answer in (a). (im)
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40. The diagram below shows lhe order of stages in the life cycle of a ffowering

plant.
/ ’ Stage 7 \
Stage Y ' Stage X
{Seed)
™

NS

Germination

a) Name the stages Y and Z.

Stage Y: ' .

Stage Z:

b) At which stage, X, Y or Z, is the plant capable of flowering?
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41, Paul set up an experiment to make four electromagnets. The number of coils
of wire around each electromagnet was different.

He then tested the strength of each of the electromagnets by bringing them
near a box of paper clips. He then recorded his observations as shown below.

wire

T
§ fran

battery -
_’ nail
Electromagnet | Number of coils of wire Mumber of paper clips
- - attracted

A 5 3

B 0 7

C 20 16

D 25 25 B

a) Name one variable he should keep the same throughout the experiment.

b) What is Paut trying to find out from the experiment?
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42. The diagram below shows a styrofdam boat floating-in a basin of water.
Benjamin placed a magnet in the styrofoam boal.

Haper
Obiert X
Water
Magnet
Sraofoam

Bagin

When Benjamin brought Object X; near to the boat, he observed that the boal
moved away from Object X.

a) What can X be? - {1m)

b} Explain whal cadsed the boal to move away from Object X. {2m)
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43. Siiused the sticking method
her that the slrenigth of the ta
faclors.

lo make a temporary magnel. Her ieacher told
mperary magnet depends on a number of

List down 2 factors that Siti's teach

er could have said 16 her.
a)

{1m)

b) (1m)
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44,

P3 Sc SA2 2008

Ravi set up an experiment as shown befow,
He was able to keep the paper clip suspended in the air when he held the

magnet above il
{ }"M’ net
ag :

= Maleriagl X
Paper cip

String

Stone

SR RPN S T SRN T Table

When Material X is placed between the magnet and the paper clip, the paper
clip falis onto the table. ~

a) What could material X be? ) {im)

b)  Explain why the paper clip drops. {2m)

Page 29 of 31

2008 — P3 - Science — SA2 — Henry Park




45, Mrs Lee sct up an experiment as shovm below. She pushes the papger clip
towards the magnet afong the ruler.

S N =

Magnets

— ~ ~(F— Paper ciip
Lo oydd

She then measured the distance at which the paper clips are atiracted o the
magnets A and B respeclively.

Magnet Distance at which the paper |
clip is attracted to magnet

A 3 cm
B 2 cm
a) "Which magnet, A or B, is weaker? _ {1m)
b)  Explain your answer for par {a). (im)
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46.  Mr Al carmed out an experiment using a bar magnet and iron nails. He divided
the magnet into 4 parts, A, B, C and D. He brought the magnet close (o a tray
of iron nails.

He then recorded the numbcer of iron nails that were allracted 1o each of the 4
parts of the magnel. The graph below shows the findings of his experiment.

—h )

DM BT

Number of iron nails

B C E.'r

Paits of maguer

a) Based on the graph above, which magnet 1, 2, 3 or 4 has been labelled (1mj
correctly?
Magnel 1: A B : CD
Magnet 2: A B c D
Magnel 3: A - B C b
A B C D
Magnet 4:
Magnet
{im)

b)  Explain your answer for part (a).

.£nd of Part 2

Setflers: Mrs. Chioe Tay & Ms. Tan Y.H.
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| SR SEIEE

EXaM PAPER 2008

SCHOOL : HENRY PARK PRIMARY SCHCOL
SUBJECT : PRIMARY 3 SCIENCE

TERM : SA 2

o1 | 2T Q3 [ea Q5 Q6 | Q7 | 08 | Q9 Q10 |-Q11 ] Q12 [ Q13 | Q14| Q15| Q16 | Qi7
;;:;?’J -ﬁ'“==_ 2
33)a)Bala $ aim of the experlment Is to see whlch board can:t ; Id
the most weigh. - o T
b)Board B be'cause-it cén“ééirry‘Qﬂﬂg and it did not bre’"&a‘
34)a)Rubber boots : -
b)The rubber boots does riot absorb. water but the canvas

shoes does absorb ‘water.

35)a)Dina. b)Dina. c)Dino.
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36)a)X: four st tages ‘outahfe cyde

electromag,ne magnetlsm.

42)a)A magnet :
b)He broughtthe Ilke poles of the magnet‘ ogelher- d they .
repelled. : - T

43)a)sSiti can stroke the temporary magnet more.
b)Siti can use a-‘:;f ronger magnet to stroke the temporary
magnet. e

44)a)Material X could be an iron sheet.

pD)Magnetism cannot pass through magnetic materials like iron.
45)a)Magnet B.

b)Magnet B managed to attract the paper clip when it is nearer
therefore making it weaker
46)a)3

b)The poles of a magnet are stronger while the middle is the
weaker. Therefore A and D must be right at the end while C should

be right in the middle.
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